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(D) KRB (B FRME: 1 Ba/L)

FE A

Cs—134+Cs-137: EHSICBWTAREE (¢ 2RSIZRBWTRBE)

<HE>

RSRATRICEE SR IS5 O Bk S8 (OBK) CFR24423 1 16 AR A @8 59 1307)

B EES DA (220134, 7 4137

431 110 Bg/kg

AGER T OIS B AR D BARE OKOE s & B A AR E) CER244E3 7 5 B AT /K 030555 1524

S5 B e JR K TE R )

HEEES A (B 134, BT 4137 631 110 Bg/kg

(2) J&E (BrH TERME: 10 Ba/ke(F#ZIE))

MR T500 Ba/kgbh N THDH, HEBMEFIZOWTIL, 162X THHH0 D, BBTria

TR B T8 THERS

Cs—134+Cs—137: Ak H ~ 386 Bq/kg(GZiR) C¥AR  ~ 348 Ba/ke(RLiR))

<HBE> FEEES T AT L (500 Bq/kg) DUEAHEEC () pPIEamEE s

500 501 1,001 1,501 2,001 2,501 e
LIF -1,000 | -1,500 | -2,000 |-2,500 | LLLE .
AYE 15 0 0 0 0 0 15
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ORrFRER) (BI#R)
KEEZRIUTHRE—E
BRI A ki — % H T B I L (Ba/L)
BREA | K ki | B E 5y ss 8 W > o o %
No. Tk 4 (m)
(m) (m) (%0) (mg/L) (&) Cs—134 Cs—137
1| FE U i S Sk SR R 2000m T =8 67 16H = 14.8 0.5 7.2 319 < 0.5 < <
T 13.8 33.2 <1 0.4 <1 <1
o ka1 R Bt | o8 | epien | B | 42 0.5 )y 82.2 2 0.7 a a
T 3.2 32.2 2 0.7 <1 <1
3| L H e U1 H492000m 40T N epsp | o2 | 108 0.5 ¢35 318 a 0.2 a a
T 18.8 32.9 1 0.5 <1 <1
4 571 4 1000m o 3T fé 6A15H | = | 87 2? 5.7 2;2 <; ?3 : :
TR TSR E3E 0' 5 31. 8 2 1. 2 <1 <1
5 K H 59 1000m e 3T = 67 15H = 11. 4 : 4.0 : :
T 10. 4 32.6 5 2.1 <1 <1
6 /NI 1000m e 3T =8 67 14H = 11. 4 0.5 6.8 32.1 < 0.6 <l <l
T 10. 4 32.9 2 0.8 <1 <1
7 FH )1 1HK92000m s 3T f’é 67 14H = 17. 4 12‘ i 10.6 2; ; 2 g‘ ; : :
TR R AR E3E 0' 5 32. 8 <1 0' 5 <1 <1
8 REJI 7K 1000m et 3T = 67 14H & 12.5 : >12.5 : :
T 11.5 33.2 1 0.6 <1 <1
9 & ) 119 1000m {3 =8 67 14H = 10.9 0.5 7.2 32.9 L 0.7 < <
T 9.9 33.3 4 0.9 <1 <1
10| HE LT Hb Se i dk AF NI 1000m e 3T =8 67 15H i 11.9 0.5 7.0 32.9 3 L4 < <
T 10.9 33.3 <1 0.5 <1 <1
117 R F ##91000m {3 =8 67 15H = 10.8 0.5 6.2 32.9 ! 0.6 <l <l
T 9.8 33.3 6 2.3 <1 <1
12| KA [ ##51000m {3z =8 67 15H i 10.5 0.5 6.0 33.7 < 0.4 < <
T 9.5 33.8 12 3.0 <1 <1
13|V o & T S B HN M9 1500m 3T =8 67 16H i 18.2 0.5 9.5 33.1 ! 0.6 < <
T 17.2 33.7 <1 0.3 <1 <1
14[/N 4k VG BGR55 200 ALKI400 m A 3T L 6H16H i 16.9 0.5 6.0 33.0 2 0.9 < <
T 15.9 33.6 3 1.3 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 67 16H i 18.3 0.5 6.5 33. 2 ! 0.8 < <
TE 17.3 33.9 1 0.4 <1 <1
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RIS R —XIEH R PEWE IR [Ba/kg (WZIE) ]
Yo, e I IS A e T Bt > v 4
(cm) (%) Cs—134 | Cs-137 Gt
1 [ 4 i SR AP TP 2000m T 6716H e 14.8 6 73. 1 b <10 <10 -
2|42 1 vk TRSEHE K X 15 ST 6716H S 4.2 5 TLO|RD - L k <10 33 33
3| FR R R Sl ik ek BB )1 #92000mf 3T 6715H e 19.8 5 71.7 b <10 <10 -
4 R B A 1000mf 3T 6H15H 2 8.7 5 73.2 i <10 38 38
5 FRNT T S ) 1000m et 3T 6 15H & 11.4 5 73.6 b <10 14 14
6 /N 1000m s 3T 6 14H & 11.4 5 71.0 b <10 33 33
7 R 75 7)1 #92000m et 3T 6H14H = 17.4 6 69. 8 T 18 140 158
8 PR PR REJI 9 1000m e 3T 6 14H & 12.5 5 72.7 b 21 180 201
9 & )1 P 1000m s 3T 6 14H & 10.9 5 74. 4 b 15 140 155
10| HaBERT Hh S5 bk AFN#91000mf 3T 6715H i 11.9 5 69. 1 b 24 180 204
117 5 1RAT A 9 1000mf 3T 67 15H e 10. 8 5 73.5 W <10 51 51
12| RAT 1 759 1000m {3 6 15H i 10.5 5 73.1 b <10 30 30
13|V o & Tl S v B I 139 1500m s 3T 6716H i 18.2 5 72.9 b <10 15 15
14/ ek PaRE R 52D AL#9400 m 3T 6716H i 16.9 5 41,7\ b - W 46 340 386
15| B VR 1 [ )1 49 1000mf 3T 6716 H i 18.3 5 68. 7 b <10 61 61
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